Jogbooboobooboobooboobooon
— ool HeoUOOOUOUOoOo—

2008MI155 OO OO
gboo o oboo

1 00o0n

gboboboobobobooooooobobon,n

goboooboobbooboobboobboobbo
goo.0b,0000000000000000000
gboobooooboobobobobobobobn.bo
g,000boooboooboobbo,booboooo
gboobooooooobobobob,bobobobo
gobobooooboooobooooboooobooooo.o
O, 000000D000000000000D000 HeO
gobooobooobooboboooboooboo.ooo
gdoooooboobooooobooooooboboooo. o
O,000000000000000000 HoOOO
oobooboooooa.

2 0OOdo

bobobOoooooobooboboboooooo

oboboooooooobooboboboobooooooo
obO. jooooobooboobooooooooooo
oo, 000o00obooooboooobooooobooboon
ooooo,00000ob0ooooooobooon.

3 0O00OO0oo
00000 6t)[rad], 00000000 z(t)[m OO,
D0000D0004(#)[A,0000000000 FINJO
000,000000000000000000000
(1),(2)000. 00,000000000000000
Ooooooo.
JO(t) = Ki(t) — RK(RO(t) — x(t)) (1)
Mi(t) = K(RO(t) — x(t)) — Cpi(t) — F 2

01 00000000

O0DoOo0o0ooo | K 0.34[Nm/A]

ooooooooooo | J 1.02*10~4[Nms?]
00oO0oooo 1.0*¥108[N/m]
OoooDoooo Cy 5.0¥103[Ns/m]
OoooDooo M 0.49(kg]
0000000 R || 6.37 * 10~*[m/rad]

000000000000000 (1),2)000000
00000000,01000.

+ ) 1 y(t)
o Esren

U1 ddbogbgoogd

oobooobooooooo,0ooobooobooao
oooobooooobooooooooo.
ooood Jé(t):ODDDD,DDDDDDDDD

M) + Cri(t) = i(t) 3)
000.00000000 2,() = [2(t) @)%, 000
w(t)=4(t) 00000000000 (4)000.

0 1
0= | o & || £ |
M RM
Y =11 0]a(0) (4)
4 0JO0O0OoOooon
goooooooooooooooboobboobn
Jdddddo0odoouo. ooopooooooooo
0000,000 r(4)000 y()00000 e(t) 00,0
Oe® D000 [0,)00000000 w®OODO.
t
t) = d 5
w(t) = [ etr) ar %)

00000 z.(t) = [=(t) #(t) w)]¥ 000, 0000

ooooo
0 1 0 0
c
0 -5 0 |z)+ | 55
0 0 0
y@)=[1 0 0 Jze(t) (6)
000.000,000000 z.(t),u(t), () 00000

00000 A, B.,B,00,000000 2.()0000
00 c.,000.

5 Uugobbboogd

5.1 0OO0O0OO0OO0OO

0000000 Mkeg]DOOUOOODOODDOOOOOO
0000000000o0U.000,=1/M0O0O0O0
ooboooo.MOOOOODODOODOOOOODO 0.5
gboobogooils0boboooobobobgn.g
Ul oct0onog

Q € [Qmin, Qmaz] = [1.3605, 4.0816] (7)
O000. O00OO0OO0DDOO0OO0 «00D000O0D
A0),B.(a)0000,00000000000000
O0000,4A = Ac(amin), Beo = Be(amin) O Aer =
Ac(maz); Be1 = Be(Qmae) 000000,

Ze(t) =

5.2 0O0O0O0O0O0OO
gboocobOobooooobooogo2000.




00 LMIOOOOOO,0000000000000
00000000.000 2(),é(t),00000 w(t),
Ow(t)00000000000 wey, Wes, e, w, 00,
000000 (8)000.

We1 = 110wz = 2.5, we = 2, w, = 0.1 (8)

Oo00,P(s) 0000,y 0O0O0ODO, K, =

(K, K;] 0000000000000, 24, 2,2, 000
gooo,0o0bo0,o0o0obobbooooooo.

6 H ., OOOODOODOOO
6.1 00OO0OO0OOOOOOOOOOO0O

000000000000 MODOOOO0O P(s) O
000D0000000,0000000 P(s)00000
000.000,0000000 MOOOOOOOO0OO
0000000000.00000000

P(s

= (9)
00D0.000,000000000000000 Ap(s)
000000000000000000 Wi(s)DOO
0 .Wi(s) O

g
g
g

A (s) =

Wils) = 1 (10)

000.00000 An(s),W, 0000000000 3
ggo.

03 ,An(s)0 Wy(s)OOO

6.2 0O0O0OO0OOO
obooooOooooooboooo4000.

04 0000000 (HoOOOOOOODO)

000000000000000000000000
0,0000000000000000000000. 0
00 z(t),&(t),00000 w(t),00 w(t) 000000
00000 we, wes, we,w, 10,0000000 (11) 0
oo.
wer = 7.10wss = 0.4, we = 1, w, = 0.001

00DO0,P(s) 00000,() 000000, K.
K, K,)0000000000000. 2, 2e, 24, 2 O
000000,00000,00,00000000000
ooooooo.

(11)

7T UbOOoooOooooodg

oboboooooboooobooooboobooooo
obobooooobobs7T0b0,H,O0OOoooono
goooooooooooboooooobooogeso

O00.000,00000000 M=049kegl00O0O

000 10pm]000. O0,000000000 100
ooooo.

15x10°

=)

position [m]

—XB
~Yiab-vay

o o
position [m]
o

.

o
®
5
*®
~

4 6 10
time [s]

05 0000 (@O0000)

0.6,

6
time [s]

06 0000 (He D)

0.6,

—RER

—%B
—-Yiab—-vay

~Yiab-vay

input [A]
o
[
input [A]
o
[

—0.2O 2

10 0% 2 4 6 8 10
time [s]

08 0000 (HeD)

4 6
time [s]

07 0000 (@O0000)

0o0,0000000 Ho,OODOOODOOOODOO
. bgbooooooooobobobooooooo
00000000000 2450 0000000000
goooogoo.

15210

3

=)

—Heco
-~polytope

—Hoo
-~polytope

position [m]

o o
position [m]
o o

!
=
=)
!
]

4 6 10
time [s] time [s]

09 0000:M=0.49kg] O 10 0000 :M=0.735]kg]

input [A]
°
~

“Hoo
“~polytope

—Hoo
-~polytope

0% 2 4 6 8 10

10
time [s]

4 6
time [s]

0 11 0000:M=0.49ke] 0 12 0000 :M=0.735[kg]

8 bouuodobobod

gbobobooobooooobobobooboooboooo
000000000000 oo0ooooooooo [3).
gobo,0b0o000bocoooooboboooooboooon
o000 LMIOOOOOOODOOOODOOOODODOOO
gbooooooooooboobobobobobooboo
oboooooooooooboobobobobooboon
gobO.000,0900 100000000,0000¢0
oboobOo. ooooobooboboboooooooo
ooobooOooooooboooobooooo,oooooo
goboooooooobooooboooobooboooo,ono
oboboobobOoooocboobo. obobooooooo

ubboooboabooobuoaboooboaoboad
ubooaoodao.

goon

0000000000000 00000o2001
[2] The Mathworks, LMI Control Toolbox User’s Guide.

B 000mMLMIOOOOOOOOOOOOOOOOO
OMUO0o0o0ooo 420,0 120, (2003)



